
1. Two of these sentences are correct. Tick them.
 A cubes faces are all the same.
 A cube has 3 faces.
 A cube has less than 7 vertices.
 A cube has 12 edges. 

2. Here is a sequence of 3D shapes. Add a 3D shape into the 
sequence after the cube. If you continue the pattern what will be the 
9th shape in the pattern?

_____________

Reasoning

Grammar and punctuation

5. 16 children went to a party. One quarter of them don’t like 
pizza. How many children is that? 
So how many do like pizza?
Show your workings.

34     +      29       =    40

71      - 11       =   17

15   +   15  +   10  =   60 

39 - 20   - 16   =  

¾  of 20   = 

⅓  of  15  =  

10     X           3  =  80

15    ÷ 5 =  4      

Spellings

Arithmetic

1. section
2. cheerful
3. sad
4. puzzle
5. plan

3. I have £1.00 to spend. I buy a mix of ice creams (10p), lollies 
(5p) and ice pops (2p). Show 3 different ways of spending exactly 
£1.00.

4. A shop sells sharpeners in a pack of 10. 
In a week shop sells 30 sharpeners. 

How many packs of the sharpeners are sold?      

1. What type of punctuation should go at the end of this 
sentence?

Where are your socks
 question mark
 exclamation mark
 full stop
 comma

2. What type of word is underlined in the 
sentence below:
He went quietly into the room
 noun
 adjective
 verb
 adverb
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